The log-concavity of Kazhdan-Lusztig polynomials of thagomizer matroids

Siyi Wu and Philip B. Zhang^{*}

College of Mathematical Science Tianjin Normal University, Tianjin 300387, P. R. China

Abstract. Elias, Proudfoot, and Wakefield conjectured that the Kazhdan-Lusztig polynomial of any matroid is log-concave. In this paper, we prove that the Kazhdan-Lusztig polynomials of thagomizer matroids are log-concave.

Keywords: Log-concavity; Kazhdan-Lusztig polynomials; thagomizer matroids; recurrence relation.

AMS Classification 2020: 05A15, 33F10

1 Introduction

The objective of this paper is to prove the log-concavity of Kazhdan-Lusztig polynomials of thagomizer matroids.

Let $\chi_M(t)$ be the characteristic polynomial of a matroid M. Elias, Proudfoot, and Wakefield [2] associated to every matroid M a polynomial $P_M(t)$ with integer coefficients such that the following conditions are satisfied:

1. If $\operatorname{rk} M = 0$, then $P_M(t) = 1$.

2. If $\operatorname{rk} M > 0$, then deg $P_M(t) < \frac{1}{2}\operatorname{rk} M$, where $\operatorname{rk} M$ is the rank of M.

3. For every M, $t^{\operatorname{rk} M} P_M(t^{-1}) = \sum_F \chi_{M_F}(t) P_{M^F}(t)$, where M_F and M^F denotes the restriction and contraction on F respectively.

The polynomial $P_M(t)$ are usually called the Kazhdan-Lusztig polynomial of M. They proposed a conjecture which states that the coefficients of these polynomials are always non-negative. This conjecture was recently confirmed by Braden, Huh, Matherne, Proudfoot, and Wang [1].

Elias, Proudfoot, and Wakefield also conjectured the log-concavity of these polynomials. This conjecture is still open. We say that a finite sequence $\{a_i\}_{i=0}^n$ is *log-concave* if the consecutive numbers satisfy $a_i^2 \ge a_{i-1}a_{i+1}$ for $1 \le i \le n-1$, and a polynomial $\sum_{i=0}^n a_i x^i$ is *log-concave* if its coefficients form a log-concave sequence.

^{*}Corresponding author. Email: zhang@tjnu.edu.cn

This work was supported by the National Science Foundation of China under Grant No. 12171362. Wu was partially supported by Postgraduate Innovative Research Projects of Tianjin Normal University No. 2022KYCX111Y.

Conjecture 1.1 ([4]). For any matroid M, the Kazhdan-Lusztig polynomial $P_M(t)$ is log-concave.

Conjecture 1.1 has been confirmed for uniform matroids, whirl matroids, wheel matroids, and graphic matroids of cycle graghs, fan graghs, and squares of paths [4, 6, 7, 11].

In this paper, we will prove this conjecture for thagomizer matroids. Consider a complete bipartite graph $K_{2,n}$ and let T_n be the graph obtained by joining the two distinguished vertices with an edge. The graph T_n is called a thagomizer graph. Let $P_{T_n}(t)$ be the Kazhdan-Lusztig polynomials of its graphical matroid.

Theorem 1.2. For any positive integer n, the Kazhdan-Lusztig polynomial $P_{T_n}(t)$ is logconcave.

We prove Theorem 1.2 through the following ideas. Let $c_{n,k}$ be the coefficient of t^k in $P_{T_n}(t)$. Gedeon [3] gave a very nice formula for $c_{n,k}$ as follows:

$$c_{n,k} = \frac{1}{n+1} \binom{n+1}{k} \sum_{j=2k}^{n} \binom{j-k-1}{k-1} \binom{n-k+1}{n-j}.$$
 (1)

An equivalent generalization of this formula was conjectured by Gedeon [3] and proved by Xie and Zhang[12]. Let

$$d_{n,k} = \sum_{j=2k}^{n} \binom{j-k-1}{k-1} \binom{n-k+1}{n-j}$$

and

$$b_{n,k} = \frac{1}{n+1} \binom{n+1}{k}.$$

Consequently,

$$c_{n,k} = b_{n,k}d_{n,k}.$$

We shall prove the log-concavity of $c_{n,k}$ by showing that the same property holds for $d_{n,k}$ and $b_{n,k}$ respectively. The log-concavity of $b_{n,k}$ is easy to check. The key ingredient of our proof is the following lemma, which confirms the log-concavity of $d_{n,k}$.

Lemma 1.3. For any positive integers n and k with $n \ge 2k + 1$, we have

$$d_{n,k}^2 \ge d_{n,k+1}d_{n,k-1}$$

Our proof of Lemma 1.3 is inspired by Kauers and Paule's computer proof of Moll's log-concavity conjecture [5].

The outline of the rest of the paper is as follows. We first give some recurrence relations of $d_{n,k}$ in Section 2. We next estimate upper and lower bounds of $\frac{d_{n,k}}{d_{n-1,k}}$ in Section 3. Finally, we prove Lemma 1.3 and Theorem 1.2 in Section 4.

2 Recurrence relations of $d_{n,k}$

In this section we give some recurrence relations of $d_{n,k}$, which will be used later. To do this, we use Zeilberger's algorithm[10, 13], which is an effective tool for proving combinatorial identities especially including sums of hypergeometric terms. We shall briefly introduce how Zeilberger's algorithm works to deduce some recurrence relations. Let F(n,k) be a double hypergeometric term, namely, both F(n+1,k)/F(n,k) and F(n,k+1)/F(n,k)are rational functions of n and k. Zeilberger's algorithm is devised to find a double hypergeometric term G(n,k) and polynomials $a_0(n), a_1(n), \dots, a_m(n)$ which are independent of k such that

$$a_0(n)F(n,k) + \dots + a_m(n)F(n+m,k) = G(n,k+1) - G(n,k).$$
(2)

Set $S(n) = \sum_{k=a}^{b} F(n,k)$. Summing (2) over k ranging from a to b, where $a \leq b$. It follows from (2) that

$$a_0(n)S(n) + \dots + a_m(n)S(n+m) = G(n,b+1) - G(n,a).$$

Note that G(n, b+1) - G(n, a) = 0 holds for many sums arising in applications.

Lemma 2.1. For any positive integers n and k with $n \ge 2k + 1$, we have

$$d_{n+1,k} = \frac{(-2k+2n+2)d_{n-1,k} + (4k-3n-2)d_{n,k}}{2k-n-1},$$
(3)

$$d_{n-1,k-1} = \frac{(-2k+2n+2)d_{n-1,k} - nd_{n,k}}{2k-n-1},\tag{4}$$

$$d_{n-1,k+1} = \frac{\left(-4k^2 + 2k(n-1) + n(n+1)\right)d_{n-1,k} + n(2k-n)d_{n,k}}{4k(k-n)}.$$
(5)

Proof. We first prove (3) by Zeilberger's algorithm. Let

$$F_1(j,n) = \binom{j-k-1}{k-1} \binom{n-k+1}{n-j}$$

and

$$G_1(j,n) = -\frac{(n-k+2)!}{(j-k)(j-2k-1)!(k-1)!(n-j+2)!}$$

Clearly, $d_{n,k} = \sum_{j=2k}^{n} F_1(j, n)$. It follows from the convention $\frac{1}{(-1)!} = 0$ that $G_1(n+3, n) = G_1(2k, n) = 0$. By using Zeilberger's algorithm on n, we obtain

$$-2(k-n-2)F_1(j,n) + (4k-3n-5)F_1(j,n+1) + (-2k+n+2)F_1(j,n+2) = G_1(j+1,n) - G_1(j,n).$$

By summing the above equation over j from 2k to n + 2, we get

$$-2(k-n-2)d_{n,k} + (4k-3n-5)d_{n+1,k} + (-2k+n+2)d_{n+2,k} = 0.$$
 (6)

Thus we can get (3) by replacing n with n - 1 in (6).

We next prove

$$d_{n-1,k+1} = -\frac{\left(8k^2 - 8kn - 2k + n^2 + n\right)d_{n-1,k} + \left(4k^2 - 4kn - 2k + n^2 + n\right)d_{n-1,k-1}}{4k(k-n)}$$
(7)

by following similar lines to (3). Let

$$F_2(j,k) = \binom{j-k-1}{k-1} \binom{n-k+1}{n-j}$$

and

$$G_2(j,k) = \frac{B(j,k)(n-k)!}{(j-k-2)(j-k-1)(k-j)(j-2k-1)!(n-j)!k!},$$

where

$$B(j,k) = 2j^4 + j^3(n - 16k - 13) + j^2(44k^2 - 3kn + 71k - 3n + 25) - j(k^2n + 48k^3 + 117k^2 - kn^2 - 5kn + 78k - 2n + 14) - k^2n^2 + 3k^3n + 6k^2n + 18k^4 + 51k^3 + 49k^2 - 2kn^2 + 14k.$$

Clearly, $d_{n,k} = \sum_{j=2k}^{n} F_2(j,k)$. We get $G_2(n+1,k) = G_2(2k,k) = 0$. By using Zeilberger's algorithm on k, we obtain

$$-(2k-n)(2k-n+1)F_2(j,k) + (-8k^2 + 8kn - 6k - n^2 + 5n)F_2(j,k+1) - 4(k+1)(k-n)F_2(j,k+2) = G_2(j+1,k) - G_2(j,k).$$

By summing the above equation over j from 2k to n, we get

$$-(2k-n)(2k-n+1)d_{n,k} + (-8k^2 + 8kn - 6k - n^2 + 5n)d_{n,k+1} - 4(k+1)(k-n)d_{n,k+2} = 0.$$
(8)

Thus we can get (7) by replacing k with k-1 and n with n-1 in (8).

We proceed to prove

$$d_{n+1,k} = 2d_{n,k} + d_{n-1,k-1}.$$
(9)

Replacing the summation index j in $d_{n,k}$ with i = n - j, we have

$$d_{n,k} = \sum_{i=0}^{n-2k} \binom{n-i-k-1}{k-1} \binom{n-k+1}{i}.$$

Thus we have

$$d_{n+1,k} - d_{n-1,k-1} - d_{n,k} = \sum_{i=0}^{n-2k+1} \binom{n-i-k}{k-1} \binom{n-k+2}{i}$$
$$- \binom{\sum_{i=0}^{n-2k+1} \binom{n-i-k-1}{k-2} \binom{n-k+1}{i}}{k-2} \binom{n-k+1}{i}$$
$$+ \sum_{i=0}^{n-2k} \binom{n-i-k-1}{k-1} \binom{n-k+2}{i} - \frac{\sum_{i=0}^{n-2k+1} \binom{n-k+1}{i}}{k-1} \binom{n-k+1}{i}$$
$$= \sum_{i=1}^{n-2k+1} \binom{n-i-k}{k-1} \binom{n-k+1}{i-1}$$
$$= \sum_{i=0}^{n-2k} \binom{n-i-k-1}{k-1} \binom{n-k+1}{i-1} = d_{n,k}.$$

This completes the proof of (9).

Therefore, we subtract (9) from (3) to obtain the recurrence relation (4). Finally, by substituting (4) for $d_{n-1,k-1}$ in (7), we obtain the recurrence relation (5). Now all the required recurrence relations have been obtained. This completes the proof.

Note that the Mathematica program of finding the recurrence relations (3) and (6) are described in Appendix. We use the package **fastZeil** developed by Paule, Schorn, and Riese[8, 9] which is a Mathematica implementation of the Zeilberger's algorithm.

3 Bounds of $\frac{d_{n,k}}{d_{n-1,k}}$

In this section we estimate the upper and lower bounds of $\frac{d_{n,k}}{d_{n-1,k}}$. To give the bounds of $\frac{d_{n,k}}{d_{n-1,k}}$, we first introduce some notations. Let

$$X(n) = \frac{1}{n} + 1,$$
 (10)

$$Y(n,k) = \frac{2k}{n-2k} + \frac{2}{n} + 2.$$
 (11)

Lemma 3.1. For any positive integers n and k with $n \ge 2k + 1$, we have

$$X(n) \le \frac{d_{n,k}}{d_{n-1,k}} \le Y(n,k).$$

Proof. Fixing k, we prove this lemma by using induction on n. For the case n = 2k + 1, we need to show

$$X(2k+1) \le \frac{d_{2k+1,k}}{d_{2k,k}} \le Y(2k+1,k).$$

By the definition,

$$\frac{d_{2k+1,k}}{d_{2k,k}} = 2k + 2,$$

$$X(2k+1) = \frac{1}{2k+1} + 1, \ Y(2k+1,k) = 2k + \frac{2}{2k+1} + 2.$$

Therefore, the desired inequality holds for n = 2k + 1.

Assume that the inequality holds for some $n \ge 2k + 1$, namely,

$$X(n) \le \frac{d_{n,k}}{d_{n-1,k}} \le Y(n,k).$$

We proceed to prove the desired inequalities hold for n+1 as well. By dividing both sides of (3) by $d_{n,k}$, we have

$$\frac{d_{n+1,k}}{d_{n,k}} = \frac{(-2k+2n+2)d_{n-1,k}}{(2k-n-1)d_{n,k}} + \frac{4k-3n-2}{2k-n-1}.$$

Since $2k - n - 1 \le -2 < 0$ we obtain

$$\frac{-2k+2n+2}{(2k-n-1)X(n)} + \frac{4k-3n-2}{2k-n-1} \le \frac{d_{n+1,k}}{d_{n,k}}$$
(12)

$$\leq \frac{-2k+2n+2}{(2k-n-1)Y(n,k)} + \frac{4k-3n-2}{2k-n-1}.$$
(13)

By the definition of X(n), we can see the left side of (12) is equal to X(n+1). Indeed,

$$\frac{-2k+2n+2}{(2k-n-1)X(n)} + \frac{4k-3n-2}{2k-n-1} = \frac{(-2k+2n+2)n}{(2k-n-1)(n+1)} + \frac{4k-3n-2}{2k-n-1}$$
$$= \frac{1}{n+1} + 1 = X(n+1).$$

We only need to show the right side of (13) is less than or equal to Y(n+1, k), namely,

$$\frac{-2k+2n+2}{(2k-n-1)Y(n,k)} + \frac{4k-3n-2}{2k-n-1} \le Y(n+1,k).$$

By the definition of Y(n, k), it suffices to verify

$$\frac{-2k+2n+2}{(2k-n-1)\left(\frac{2k}{n-2k}+\frac{2}{n}+2\right)} + \frac{4k-3n-2}{2k-n-1} \le \frac{2k}{n+1-2k} + \frac{2}{n+1} + 2.$$

which can be reduced to

$$\frac{2(2k^2 - 2k(n+1)^2 + n(n+1)^2)}{(n+1)(n+1-2k)(kn+2k-n^2-n)} \le 0.$$

Since $n \ge 2k + 1$, we get $n + 1 - 2k \ge 2 > 0$ and

$$kn + 2k - n^{2} - n \le \frac{n-1}{2}(n+2) - n(n+1) = -\frac{1}{2}n(n+1) - 1 < 0.$$

We proceed to prove

$$2k^2 - 2k(n+1)^2 + n(n+1)^2 > 0.$$

Let $f(k) = 2k^2 - 2k(n+1)^2 + n(n+1)^2$. By considering

$$f(k) = 2\left(k - \frac{(n+1)^2}{2}\right)^2 - \frac{1}{2}(n+1)^2\left(n^2 + 1\right)$$

as a quadratic function of k, the symmetry axis of f(k) is $k = \frac{(n+1)^2}{2}$. Since $n \ge 2k+1$, we have $k \le \frac{n-1}{2} < \frac{n+1}{2} < \frac{(n+1)^2}{2}$, and therefore

$$f(k) \ge f(\frac{n-1}{2}) = \frac{1}{2}(n^2 + n + 2)^2 - \frac{1}{2}(n+1)^2(n^2 + 1)$$
$$= \frac{1}{2}(3n^2 + 2n + 3) > 0.$$

This completes the proof.

4 Proof of Theorem 1.2

We first prove Lemma 1.3.

Proof of Lemma 1.3. For the convenience of notation, we shall prove that

$$d_{n-1,k}^2 - d_{n-1,k+1}d_{n-1,k-1} \ge 0.$$

Through recurrence relations (4) and (5), we get that

$$4k(k-n)(2k-n-1)\left(d_{n-1,k}^2 - d_{n-1,k+1}d_{n-1,k-1}\right)$$

= $((n+1)d_{n-1,k} - nd_{n,k})\left(2(k(n+2) - n(n+1))d_{n-1,k} + n(n-2k)d_{n,k}\right)$

Let

$$f_{n,k}(x) = ((n+1) - nx) \left(2(k(n+2) - n(n+1) + n(n-2k)x) \right).$$

Hence it follows that

$$4k(k-n)(2k-n-1)\left(d_{n-1,k}^2 - d_{n-1,k+1}d_{n-1,k-1}\right) = d_{n-1,k}^2 f_{n,k}\left(\frac{d_{n,k}}{d_{n-1,k}}\right).$$

It is easy to see the two distinct zeros of $f_{n,k}(x)$ are just X(n) and Y(n,k) defined in (10) and (11) respectively. Since the leading coefficient of $f_{n,k}(x)$ is negative, the log-concavity follows from Lemma 3.1. This completes the proof.

We proceed to prove Theorem 1.2.

Proof of Theorem 1.2. According to Lemma 1.3, we have $d_{n,k}^2 \ge d_{n,k+1}d_{n,k-1}$. It is well known that the binomial coefficients satisfy

$$\binom{n}{k}^2 \ge \binom{n}{k+1}\binom{n}{k-1}.$$

Thus it follows that $b_{n,k}^2 \ge b_{n,k+1}b_{n,k-1}$. Therefore, since $c_{n,k} = b_{n,k}d_{n,k}$, we have that $c_{n,k}^2 \ge c_{n,k+1}c_{n,k-1}$.

Acknowledgements

We would like to thank Matthew H. Y. Xie for his helpful discussion. We are grateful to the referee for helpful comments and suggestions.

References

- T. Braden, J. Huh, J. P. Matherne, N. Proudfoot, and B. Wang, Singular Hodge theory for combinatorial geometries, arXiv:2010.06088.
- [2] B. Elias, N. Proudfoot, and M. Wakefield, The Kazhdan-Lusztig polynomial of a matroid, Adv. Math., 299 (2016), 36–70.
- [3] K. Gedeon, Kazhdan-Lusztig polynomials of thagomizer matroids, *Electron. J. Com*bin., 24 (2017), P3.12.
- [4] K. Gedeon, N. Proudfoot, and B. Young, Kazhdan-Lusztig polynomials of matroids: a survey of results and conjectures, Sém. Lothar. Combin., 78B (2017), 80.
- [5] M. Kauers and P. Paule, A computer proof of Moll's log-concavity conjecture, Proc. Amer. Math. Soc., 135 (2007), 3847–3856.

- [6] K. Lee, G. D. Nasr, and J. Radcliffe, A combinatorial formula for Kazhdan-Lusztig polynomials of ρ-removed uniform matroids, *Electron. J. Combin.*, 27 (2020), P4.7.
- [7] L. Lu, M. H. Y. Xie, and A. L. B. Yang, Kazhdan-Lusztig polynomials of fan matroids, wheel matroids, and whirl matroids, J. Combin. Theory Ser. A, 192 (2022), 105665.
- [8] P. Paule and M. Schorn, A Mathematica version of Zeilberger's algorithm for proving binomial coefficient identities, J. Symbolic Comput., 20 (1995), 673–698.
- [9] A. Riese, Fine-tuning Zeilberger's algorithm. The methods of automatic filtering and creative substituting, in: Symbolic computation, number theory, special functions, physics and combinatorics (Gainesville, FL, 1999), vol. 4 of Dev. Math., Kluwer Acad. Publ., Dordrecht2001, 243–254.
- [10] H. S. Wilf and D. Zeilberger, An algorithmic proof theory for hypergeometric (ordinary and "q") multisum/integral identities, *Invent. Math.*, **108** (1992), 575–633.
- [11] M. H. Y. Xie and P. B. Zhang, The log-concavity of Kazhdan-Lusztig polynomials of uniform matroids, J. Syst. Sci. Complex, https://doi.org/10.1007/s11424-022-1296-0.
- [12] M. H. Y. Xie and P. B. Zhang, Equivariant Kazhdan-Lusztig polynomials of thagomizer matroids, Proc. Amer. Math. Soc., 147 (2019), 4687–4695.
- [13] D. Zeilberger, A holonomic systems approach to special functions identities, J. Comput. Appl. Math., 32 (1990), 321–368.

Appendix

Here we show the Mathematica program how to obtain the recurrence relations (3) and (7). The Zeilberger's algorithm was implemented as the function

Zb[function, range, n, order]

in the package **fastZeil** to find a recurrence relation of given order in n for the sum of the function over the range.

In[1]:= << **RISC`fastZeil`** Fast Zeilberger Package version 3.61 written by Peter Paule, Markus Schorn, and Axel Riese Copyright Research Institute for Symbolic Computation (RISC), Johannes Kepler University, Linz, Austria

 ${}_{\mathsf{In}[2]:=}\operatorname{Zb}[\operatorname{Binomial}[j-k-1,k-1]\operatorname{Binomial}[n-k+1,n-j],\{j,2k,n\},n,2]$

If '-2k + n' is a natural number and none of -1 + k, 1 - k + n is a negative integer, then:

 $\mathsf{out}_{[2]=} \left\{ -2(-2+k-n)\mathsf{SUM}[n] + (-5+4k-3n)\mathsf{SUM}[1+n] + (2-2k+n)\mathsf{SUM}[2+n] = = 0 \right\}$

$$\label{eq:ln[3]:=} \begin{split} & \text{In}[3]:= \mathbf{Zb}[\mathbf{Binomial}[j-k-1,k-1]\mathbf{Binomial}[n-k+1,n-j], \{j,2k,n\},k,2] \\ & \text{If `-2 - } 2k+n `` is a natural number and none of -1 + k, -4 - 2k + n, -1 - k + n is a negative } \end{split}$$
integer, then:

$$out[3] = \{-(2k-n)(1+2k-n)SUM[k] + (-6k-8k^2+5n+8kn-n^2)SUM[1+k] - 4(1+k)(k-n)SUM[2+k] = = 0\}$$